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cos20=2cos?6 — 1
cos30 =4cos>f — 3cosh
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To(x)=1, Ti(x) ==z
To(x)=22Ty—1(x) — Th—2(x)
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Ti(z)==x cos 16 =cos 6

Ty(x) =222 — 1 cos20=2cos? 0 — 1

Ts(x) =42% — 32 cos 30 =4 cos® 0 — 3cos b
Ty(r)=8z* — 822 +1 cosdf=8cos?f —8cos?f + 1
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sin 20 =2sin 0 cos §
sin360 =3sinf — 4sin3 0

sin4g=------
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Up(z)=1, Ui(z) =2z
Un(x)=22Up,—1(x) — Up—2(x)
in 26
Ui(x) =2z s1.n =2cosf sin 260 = 2sin # cos 0
sin 0
in 36
Us(z) =422 — 1 8812139 =4cos?f —1 sin 30 =4sin f cos? § — sin 6
=3sinf — 4sin® 0
in 46
Us(z) =8x3 — 4z Sslir;e =8cos®f —4cos sindf=8sinfcos®d — 4sinfcos

=4sinfcosf — 8sin> 6 cos h
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